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Aggregate Demand and Supply

Aggregate Demand

The aggregate demand curve is the aggregation of the individual demand curves for all goods and services provided in the economy.  The horizontal (quantity) axis is measured in terms of GDP; the vertical (price) axis is measured in terms of the general price level (i.e., a price index).  Now we want to explore what makes the AD curve slope downward from left to right.

With demand for a single good, we found that this was explained through the income and substitution effects.  As the price of a particular product decreases, ceteris paribus, we will substitute the good for other goods that are now relatively more expensive.  In addition, the price decrease effectively makes our income go further.  Thus, we are effectively richer.  We will spend a portion of our greater income on all goods, including the good in question (assuming a normal good).

What about aggregate demand?  These explanations do not hold.  As the price level changes with aggregate demand, all prices and incomes change, not just the price for an individual good.  Thus, the typical substitution and income effects do not explain the downward sloping aggregate demand curve.  In part the explanation for downward sloping AD depends on what the ceteris paribus assumption means in this case.  What do we hold constant.  Primarily fiscal and monetary policy and future price expectations.  Thus, there are at least three things that are affected by a decrease in the price level.

Wealth (real balance) effect:  a change in the price level affects the purchasing power of the wealth individuals hold.  If you have a savings account and the price level falls, you can buy more with that account, and vice versa.  Thus, as P decreases, the value of wealth increases which increases AD.

Interest rate effect:  a reduction in the price level increases the effective supply of money (because it increases money's purchasing power).  Most people hold money (which in this case refers to liquid assets including cash and checking accounts) to make transactions (this and other sources of the demand for money will be discussed later).  As the price level falls, individuals need to hold less money for transactions purposes.  Thus, the supply of money exceeds the demand for money.  As individuals seek to reduce their money holdings (to equate the demand and supply for money), they will increase their savings.  This increases the supply of capital, reducing the interest rate.  This will increase private investment and purchases of durable goods (particularly those that are financed).  As the price level increases, money holdings increase, increasing interest rates and reducing investment and durable goods purchases).

International trade effect:  a decrease in domestic U.S. prices makes U.S. exports more competitive, and imports to the U.S. less competitive.  This will increase the U.S. net export balance, increasing GDP.

Shifts in Aggregate Demand

Anything that changes aggregate demand at the given price level will shift the aggregate demand curve.  If the change increases aggregate demand, it shifts the curve to the right; if it decreases aggregate demand, it shifts the curve to the left.  Because aggregate demand can be expressed as the sum of consumption demand (C), gross investment (I), government purchases (G) and net exports(X) (i.e., GDP = C+I+G+X).  Thus, any development that changes one of these factors for a given price level will shift the AD curve.

For example, consider consumption demand.  Two ways to change consumption demand are changes in taxes and changes in real wealth.  A change in income tax rates will affect consumers' disposable income, changing consumption demand.  A reduction in income taxes will increase consumption demand; an increase in income taxes will reduce consumption demand.  Alternatively, consider real wealth effects.  Changes in the price level affect the real value of money balances.  Thus they change real wealth and lead to the downward sloping demand curve.  This will not cause a shift in the aggregate demand curve.  However, increases (decreases) in real wealth due to other factors (stock market boom, housing values, etc.) will increase (decrease) wealth, given the price level.  Thus this will increase (decrease) the aggregate demand curve.
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Similarly, consider investment demand.  Investment demand is influenced by interest rates and business expectations about future performance.  First consider changes in the real interest rate.  In discussing the aggregate demand curve, we explained the downward slope by noting that a decrease in the price level increases the value of money.  This leads to reductions in individual's money holdings, which lowers the interest rate.  The lower interest rate spurs investment and purchases of consumer durables.  This represents a movement along the aggregate demand curve, not a shift in the curve.  However, if the real interest rate changes for some other reason, because of a change in the demand or supply of money, there will be a shift in the aggregate demand curve, for precisely the same reasons.  Alternatively, if firms become more (less) optimistic about the future (e.g., because of stable (unstable) price levels), they will increase (decrease) their investment demand at each price level.  This will increase (decrease) AD.

Government purchases of goods and services can have a similar effect (this excludes welfare, or transfer payments, which are considered part of disposable income).  A change in government purchases of goods and services (e.g., defense expenditures) will affect G.  An increase in G will shift AD to the right; a decrease in G will shift AD to the left.

A change in net exports can have a similar effect.  Suppose the demand for U.S. exports decreases because of a recession in foreign countries.  This will reduce U.S. exports and net export demand, shifting AD to the left.  Alternatively, an increase in the value of foreign currency, relative to the U.S. $, will increase the price of foreign goods in the U.S.  This would reduce imports to the U.S., increasing net export demand and AD.

Finally, an increase in the expected future inflation rate may stimulate demand today as consumers try to buy now before prices go higher.  A decrease in the expected inflation rate would have the opposite effect.  

Aggregate Supply

The aggregate supply curve is the aggregation of the individual supply curves for all goods and services provided in the economy.  The aggregate supply curve also has a slightly different interpretation than the supply curve for an individual industry.  In micro, a firm's profits increased as its product price increased, ceteris paribus.  This resulted because input prices were held constant.  With AS, an increase in the general price level will increase general prices.  Thus, both input and final product prices will tend to increase.  What makes the AS increase with the price level in this case?  

For many producers, some input prices are fixed in the short run, not by assumption by multi-year price agreements (e.g., multi-year labor contracts, fixed rate loans, leases, futures contracts, etc.).  As the general price level increases, sales prices for final goods and services are likely to increase more than production costs.  Thus, profits increase, as in the micro case.  Thus, producers will tend to expand their output as the general price level increases.
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This is a short run phenomenon.  What happens over time as input prices are able to adjust?  Competitive pressures will restore the prior relationship between input prices and output prices.  As firms expand their output in the short run, it will tend to increase input prices (as producers increasingly compete for a greater share of the limited resource base).  Thus, the forces that generated the upward sloping AS in the short run, don't exist in the long run.  The long run AS is vertical at the level of potential (full employment) GDP.  This point is determined by the economy's supply of resources, technology, etc. at any point in time (Assuming the supply of inputs is also vertical).  These factors aren't affected by changes in the general price level.

Thus, the shape of the AS curve depends on the relative flexibility of prices.  If prices are completely flexible in the short run (no prices are fixed), then the AS is vertical in the short run (this is the classical model).  If all prices are fixed in the short run, the supply curve is horizontal; price can’t change in the short run so output will adjust to equate AS and AD (this is the strict Keynesian model).  As more prices become flexible, and fewer fixed, the AS rotates from relatively horizontal to relatively vertical.  This is the compromise model.  

The main debate is over the steepness of the short run curve and the time required for prices to adjust (i.e., the time required to move from the short to the long run).  Some analysts believe the entire AS curve is relatively flat and adjustment is slow (Keynesian sympathizers), others believe the entire curve is relatively steep and adjustment is rapid (classical sympathizers).  Some analysts believe the AS has ranges where it is relatively flat (lower GDP where more resources are under or unemployed) and ranges where it is relatively steep (higher GDP where there is little slack in the labor force).  Others believe that the shape depends on whether prices are increasing or decreasing.  In this case, prices tend to adjust upward more quickly than they adjust downward.

If output were to expand beyond this point in the long run, input prices would increase and reduce output in the long run.  Similarly, if the economy has under employed resources, input prices will tend to decrease over time as these resources compete for the existing jobs.  This will increase profitability and increase output to its potential level.  Thus, potential GDP is the only level of GDP that is sustainable in the long run.

Shifts in Aggregate Supply

Changes in LRAS and SRAS  Permanent increases in the quantity of resources (net investment in capital resources (capital deepening), new supplies of natural resources, increases in the quantity or quality of the work force), improvements in technology or new institutional arrangements (minimum wage and unemployment compensation, infrastructure, crime prevention) will affect the LRAS curve.  

Changes in SRAS only  Temporary changes in resource prices (domestic or imported) and supply shocks will affect the SRAS curve (e.g., the oil price shocks in the 1970s).

Equilibrium in the Goods and Services Market
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There is both a short run and long run equilibrium in the goods and services market, corresponding to the short and long run AS curve.  Short run equilibrium requires equality between AD and AS, but there is no guarantee that decision makers who previously agreed to long-term commitments will be happy.  In the long run, these long run agreements must be satisfactory.  This only occurs when the economy reestablishes the normal relationship between costs and prices.  At potential GDP, the economy faces the natural rate of unemployment.

If the economy is in a short, but not long, run equilibrium, will market forces automatically bring the economy back into equilibrium?  If so, how long will it take.  The case for government policy to bring the economy to long run equilibrium depends on these answers.  If automatic forces will establish a long run equilibrium relatively quickly, the case for government policy is weak.  If market forces establish a long run equilibrium only after an extended time period, if ever, there is a stronger case for government stabilization policy.
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